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The ﬁgures in the margm indicate full marks
for the questzons

irswer five questlons takmg one from each Unit

UNI’I‘-——~I

L. fa) What are the charactenstzcs of a perfect

competmon? 4
lb) Analyze the equﬂlbrmm of a firm under

the condmons ef perfect competman in s

the short run \

2 fo) What is monopely? Elmlﬁm the
equilibrium of a monopoly firm in tj:;
short run by using short runt AC, MC: Sl
and MR curves. ﬁ@ﬁg
What do you mean by ‘fhs‘* aEnaRT o

monopoly?‘ (’mm over)




3. (a)

{(b)

4. (a)

(b)

S. (a)

(b)

( 2 )

unir—II
is the middle

pompﬁtiti()n and

that irms

{17 1 god shows
seniilibrium = 5
il costs make only normal
l implying that

you agree with

Group }
incurring selling
profit in the long - run

selling cost is a waste: Do
the statement? Explain.

Suppose a demand function is given as
Q=100-2P. Using Cournot’s model

find the equilibrium output and price. ‘Is
equilibrium of the firm stable in

Cournot’s model?

‘What do you understand by collusive
oligopoly? y : 4

UNIT—II]

Why do we need to study a separateé
theory to understand the pricing of%he’
factors of Pproduction? S5

3
e

Write notes on the following :
(1) Economic rent

(ii) Differentiq] rent

(1i1) Quasi~rent |

‘««-«v"\
L}XJ”\‘ ;




(3)

[\plam the margin, brody

of wages. State four i (h\qyﬂ

theory. ationg "
16

Examine the Ricardian he 3*‘2"5
. . ) ory

qtate the mOdlﬁCatlons Y of pany
modern  theory
concept of rent.

UNIT—1V

. o) How is_capital as a factor of produect;
different from land and labour? Dlscuon
the classical theory of mterest rai:
determination. il 2+5=7

b What is adding-up 'problem?'4 , A
8 “Profits are a re\}sfard for ﬁsk~bearing,

nnovation or a result of mqnopbly' power.”
Explain the statement.. e 10

UNIT—-V , ‘
t? Is it

9 o) What welfare econormcs is abou
positive or normative in character? 3+3=6
What are the  Paretian 0pt1ﬂlahty ;
:: conditions? / i
inguish between the following :' 5x2-1
:yposmve and negative externalifics
Indmdual welfare and socid! W&H o ,
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